



名前: _____

日にち: _____ スコア: _____

$$(5 + \frac{1}{2})^2 - \frac{1}{2} - 3^2 - \frac{3}{2} =$$

$$(\frac{1}{2} - \frac{3}{2})^2 + \frac{1}{6}(\frac{3}{4} + (\frac{1}{2})^2) =$$

$$(5 + \frac{1}{3})^2 + \frac{3}{4} \times \frac{1}{6} - 4^2 =$$

$$(\frac{3}{4} - (\frac{3}{4})^2) \times \frac{1}{4} - (\frac{1}{2} - \frac{2}{5})^2 =$$

$$(\frac{3}{4} - \frac{3}{2})^2 + \frac{2}{3}(\frac{3}{5} + (\frac{3}{5})^2) =$$

$$(5 + \frac{1}{3})^2 - \frac{3}{2} + \frac{1}{4} + 2^2 =$$

$$(4 - \frac{3}{5})^2 - \frac{3}{4} + \frac{3}{5} + 2^2 =$$

$$(\frac{1}{2} + \frac{3}{2})^2 + \frac{3}{5}(\frac{3}{5} + (\frac{1}{5})^2) =$$

$$(3 + \frac{2}{5})^2 - \frac{2}{3} \times \frac{1}{5} + 2^2 =$$

$$(\frac{1}{5} - (\frac{1}{5})^2) \times \frac{1}{5} + (\frac{1}{4} - \frac{1}{2})^2 =$$



名前: _____

日にち: _____ スコア: _____

$$(5 + \frac{1}{2})^2 - \frac{1}{2} - 3^2 - \frac{3}{2} = \frac{77}{4} = 19\frac{1}{4}$$

$$(\frac{1}{2} - \frac{3}{2})^2 + \frac{1}{6}(\frac{3}{4} + (\frac{1}{2})^2) = \frac{7}{6} = 1\frac{1}{6}$$

$$(5 + \frac{1}{3})^2 + \frac{3}{4} \times \frac{1}{6} - 4^2 = \frac{905}{72} = 12\frac{41}{72}$$

$$(\frac{3}{4} - (\frac{3}{4})^2) \times \frac{1}{4} - (\frac{1}{2} - \frac{2}{5})^2 = \frac{59}{1600}$$

$$(\frac{3}{4} - \frac{3}{2})^2 + \frac{2}{3}(\frac{3}{5} + (\frac{3}{5})^2) = \frac{481}{400} = 1\frac{81}{400}$$

$$(5 + \frac{1}{3})^2 - \frac{3}{2} + \frac{1}{4} + 2^2 = \frac{1123}{36} = 31\frac{7}{36}$$

$$(4 - \frac{3}{5})^2 - \frac{3}{4} + \frac{3}{5} + 2^2 = \frac{1541}{100} = 15\frac{41}{100}$$

$$(\frac{1}{2} + \frac{3}{2})^2 + \frac{3}{5}(\frac{3}{5} + (\frac{1}{5})^2) = \frac{548}{125} = 4\frac{48}{125}$$

$$(3 + \frac{2}{5})^2 - \frac{2}{3} \times \frac{1}{5} + 2^2 = \frac{1157}{75} = 15\frac{32}{75}$$

$$(\frac{1}{5} - (\frac{1}{5})^2) \times \frac{1}{5} + (\frac{1}{4} - \frac{1}{2})^2 = \frac{189}{2000}$$